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o FUI AT F T [ 57 JeT-UF 4 FRa g 24 T F97 38 &)
Please make sure that the printed pages in this question paper are 24 in number

and it contains 38 questions.

o Jo7-7H ¥ e & @ G RF T FS TET Tl § H OH FI-Yikaw F FEI-g8 9T
el

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
o FYF J9T H TV TG Y& V7§ Yeer, J9T H B AT [7E]

Before beginning to answer a question, its Serial Number must be written.
o G-kl % &= @Il /971 T 88

Don’t leave blank page/pages in your answer-book.
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o FT-YRTH B SIRFT HF o 9T Tel A o SEvIEagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH G o & A T
frd sife dafeys 7o & G T Frdll I @7 9T T G

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U go7 % FUT 37 @ Y4 I€ Ghaa F @ [ 99T-v4 [ 7 @@ & Yher 3 U 59
T § #ig 4 @ w@hHre Tl A @
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination.

A 3
General Instructions :
() 39 g97-99 & 37 38 797 & G5 A @Sl - o § & g o g F G W &
This question paper consists of 38 questions in all which are divided into five
Sections : A, B, C, D and E.
(i) GT-:357 GC 71 720 T 7T 20 J97 &, J9% 597 1 9% &7 &/
Section - A : There are 20 questions from 1 to 20, each of 1 mark.
(i) GT-§:39 8% F21 @25 0% F7T 5 97 &, J9% J97 2 3% & &1
Section - B : There are 5 questions from 21 to 25, each of 2 marks.
(iv) @8- : 37 8 726 @31 0% Z7 6 J97 & 9% J97 3 6% & &I

Section - C : There are 6 questions from 26 to 31, each of 3 marks.
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(v) T -T:37 GC 732 G35 T FT 4 J97 8, J9% 7 5 9% F &1

Section — D : There are 4 questions from 32 to 35, each of 5 marks.

(vi) G -F:359 T 736 738 7% FT 3 J97 & T9% 9T 4 9% T &I
Section - E : There are 3 questions from 36 to 38, each of 4 marks.

(vii) T FoT ARET 8 ETE G- F 1 J97 7 @S- % & 57 G, @%-7 & @
g97l 7 S Gve-F % @ g7 H iR% ey (9 7@ 81 37 @ vl G 597 B
g7 &1

All questions are compulsory. However provision of internal choice has
been made in 1 question of Section-B, 2 questions of Section-C, 2 questions

of Section-D and 2 questions of Section-E. You have to choose one question

of them.
qls - H
SECTION - A
1. frfefed SRERAr s &1 Sgas av el § ¢ 1

&t o | 0-10 | 10-20 | 20-30 | 30-40 | 40-50

FRARAT 6 7 5 11 6
(A) 0-10 (B) 40-50
(C) 30-40 (D) 10-20
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The modal class for the following frequency distribution :

Class Interval | 0-10 | 10-20 |20-30 |30-40 |40-50

Frequency 6 7 5 11 6
(A) 0-10 (B) 40-50
(C) 30-40 (D) 10-20
2. TR Y & AUH § U AHE T M 6 7 1
(A) 3 WIS = qgAE + 2 WA (B) e = 3 SgA® + 2 AIA
(C) W = 2 S50 + 3 WA (D) 3 HeE = Tgad — 2 A

What is the empirical relationship between the three measures of central

tendency ?

(A) 3 Median = Mode + 2 Mean

(B) Median = 3 Mode + 2 Mean
(C) Median = 2 Mode + 3 Mean

(D) 3 Median = Mode — 2 Mean

3. A P(E) = 0.07 8, A P(E &) & 99 &rT : 1
(A) 0.7 (B) 0.3
(C) 0.03 (D) 0.93

If P(E) = 0.07, then P(not E) will be :
(A) 0.7 (B) 0.3

(C) 0.03 (D) 0.93
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4. 72 3R 120 & Ho Ho o (HCF) & : 1
(A) 12 (B) 24
(C) 36 (D) 72

The HCF of 72 and 120 is :

(A) 12 (B) 24
(C) 36 (D) 72
5. frfafad § -4 oTRAg @@ & ? 1
(A) 36 B) 25
(C) 6J3 (D) 54

Which of the following is an irrational number ?

(A) V36 (B) 25
(C) 6J3 (D) 54
6. fEaM Tg9& 2,2 — 8x + 6 % LA H ANTHA BT 1
(A) 4 (B) —4
€ 3 (D) 1/3

The sum of zeroes of quadratic polynomial 2x* — 8x + 6 will be :
(A) 4 (B) —4
€ 3 (D) 1/3
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7. A.P.3,1,-1,-3 0evvnn... H GE SFAX A o 1

Find the common difference of the A. P. 3, 1, -1, -3 ............. .

8. Fr=fafad 7 & faa awiieT ®F-61 & 7 1
(A)  (x+1)*=2(x~3)
(B) (x-2) (x+1)=(x-1) (x+3)
(C) (x+2)P°=2x(*-1)
(D) x2+3x+1=(x—2)?
Which of the following is a quadratic equation ?
(A)  (x+1)*=2(x~3)

(B) (x=2) (x+ 1) =(x=1) (x+3)

(C) (x+2)°=2x(x*-1)
(D) X +3x+1=(x-2)?

9. fagatl (-2, 7) &R (4, -3) I BN A (@EvS H 97 75 © : 1

A +1,-2) (B) (-2,-4)
© @9 D) (1,2)
Coordinates of mid point of line joining two points (-2, 7) and (4, -3) is :
@A) +1,-2) B) (-2,-4)
€ 2,9 (D) (1,2)

10. @ &t ... & ¥ (wrwre, afTe) |
All squares are ............. . (Similar, Congruent)
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11. g0 & Reell Rrg W &l Y, @t g @ oW archt B & @ @ o B @ i
(A) 180° (B) 45°
(C) 90° (D) 60°

The tangent at any point of a circle makes an angle to the radius through the

point of contact is :

(A) 180° (B) 45°
(C) 90° (D) 60°

12. Tl ga & @i Y I8 frae fogell ) st &l § 7 1
a) 1 B) 2
(C) 3 (D) STURM

At how many points a tangent to a circle intersect it ?

(A) 1 (B) 2
) 3 (D) Infinite
13. sin 60° sec 30° & HM &N : 1
V3 3
(A) Y (B) 2
C) 1 (D) O

The value of sin 60° sec 30° will be :

W B ®)

€ 1 (D)
1104/(Set : D) P.T.O.
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14.zri%tane=%€r,ﬁrsineasr=rmam: 1
3 3
(A) 2 (B) 5
S5 4
(& 3 (D) 5

If tan 6 = %, then the value of sin 6 will be :

W 2 ® 2
© 2 I
15. 9sec?A -9 tan? A I & : 1

A -9 (B) 9
€) 1 (D) O
9 sec’ A -9 tan? Ais equals to :

A -9 (B) 9
€ 1 (D) O
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16. g % IR AR @AM H AU &
A) mw:1 B) 2m:1
C) m:r D) 1:=x
The ratio of circumference is to diameter is :
(A) m:1 (B) 2m:1

C) =m:r D) 1:=

17. &l 99 % Preamevs & &wa e Brear 6 & &R ®ioT 30° B, B ¢
(A) 2m GH> (B) 7m TH?
(C) 3m P> (D) 5m aH?>

Area of the sector of a circle with radius 6 cm and angle 30°, will be :

(A) 27 cm? (B) 7w cm?

(C) 3n cm? (D) 5m cm?

18. A & T &b foreen! Brear 3 ¥ 8, B°T :

(A) %n e (B) %n >
(C) 187 P> (D) 36m P>
The surface area of sphere whose radius is 3 cm, will be :
(A) %n cm? (B) 2 ¢ cm?
(C) 18rm cm? (D) 36m cm?

1104/(Set : D)
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19. oimRed (A) @ fagedf (1, -3) oY (4, 1) @ 9 & 30 5 TR B 1

@ (R) : %FS:Z A(xy, yy) IR Blxy, yo) & /9 & E&'—&

AB = = x1)? + (Y2 - 1)’
(A)  AREET (A) X T (R) 9! 98 § X T (R) ST (A) I T8 /e &Y 2l
(B) SRR (A) X @ (R) AT T8l & R T (R) ST (A) B Tl e T&f el 2l
(C) HRHEA (A) TRl 8, Ak T (R) T

(D) ST (A) T 8, QAfbd d& (R) T&l 2

Assertion (A) : The distance between points (1, -3) and (4, 1) is 5 units.

Reason (R) : The distance between A(x,, y;) and B(x,, y,) is

AB = \/(xz —x1)* + (Y2 —1)?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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20. AR (A) : 5 UH URAY gE&A B 1

T (R) : gl e It F A STURAT g B

(A)  ARHIT (A) X T (R) 9! Gl & R T (R) STTNHA (A) I TE ARAT BT 2l
(B) 3AR1wET (A) X T@ (R) a1 98! § o T (R) ST (A) 1 98 rear 8l &ear 2l
(C) SR (A) T8I 8, QAP d& (R) a2

(D) BT (A) TG &, AT T (R) T D

Assertion (A) : 5 is a rational number.
Reason (R) : The square root of all positive integers is an irrational number.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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qug -
SECTION - B

I tan (A+ B) = V3 Bﬁ'{tan(A—B)=%;O°<A+BS9O°,A>B,EﬁAGﬁ'{BEBT
e i BT 2
Iftan (A+ B) = V3 and tan (A-B = %;O°<A+BS90°,A>B, then find the
value of A and B.

CLE)]

OR
¢ sin (A - B) =%, cos (A + B) =%, 0°<A+B<90°% A>B, @ AR BW

HifoTg
Ifsin (A-B) = %, cos (A+ B) = %, 0°< A+ B<90° A > B, then find the value of
A and B.

fFdt X 3 @ IRW (wipers) ¥, WX &l oemiRd & 2 &l Y% asw @ Wi @l
T 25 Al & SR 115° & HIT I gHHT TER B Tl ol Gl B FdE GER b a9
ST &I A% & ST B, 98 S B 2

A car has two wipers which do not overlap. Each wiper has a blade of length
25 cm sweeping through an angle of 115°. Find the total area cleaned at each

sweep of the blades.

1104/(Set : D)
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23. k& 68 99 & fog, 77 W gfien & g & R &9 § o &d e ¢ 2

kx+3y—-(k-3)=0
12x+ ky-k=0

For what values of k will the following pair of linear equations have infinitely

many solutions ?
kx+3y-(k-3)=0

12x+ ky—-k=0

24. T ¥ DE||BC B AD FId iR A 2
1.8 cm
D E
7.2 cm 5.4 cm
B C

In Fig. DE||BC, then find AD.

A
1.8 cm
D E
7.2 cm 5.4 cm
B C
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25 GRGAS N @IS = a5 a9 g W 2, g0 W W 390 &l @5 4 & 31 g

% BT S i 2

The length of a tangent from a point A at distance 5 cm from the centre of the

circle is 4 cm. Find the radius of the circle.

gue -9
SECTION-C

26. frs FvT & 9@ g & 30 W e T et el @ damar SR A o 3

Prove that the length of tangents drawn from an external point to a circle are

equal.

27. APOR ¥, STH&I ®I9 Q §9&HIT 8, PR + QR = 25 @l &X PO = 5 @M 8, @ cos P IR
tan P & HE 3 HIOTT| 3

In APQR, right angled at Q, PR + QR = 25 cm and PQ = 5 cm. Determine the

value of cos Pand tan P.
YT

OR

[ #IFT ©  (cosec 0 — cot 0)? = 1-cos®

1+cos©

1-cos®6

Prove that : (cosec 6 — cot 8)% =
1+ cos6

1104/(Set : D)
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28. s #IfT % 5 & ity gem & 3

Prove that \/g is an irrational number.

29. fEE 9gUE 67 - 7x— 3 & L TG oW AN LIH T [l & S & ey B Fel
%l SAE BT 3

Find the zeroes of quadratic polynomial 65> — 7x — 3 and verify the relationship

between the zeroes and the coefficients.

30. % FHIHTT IH & & HOT 3
%_5_y=_2, £+g=£
2 3 3 2 6

Solve the pair of linear equations :

3x Sy _ ., x,y_13
2 3 3 2 6

a7
OR
3 HEnel H SR 26 & IR Th dE qEd §E & AW M 8| I S i)

The difference between two numbers is 26 and one number is three times the

other. Find them.
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31. % U § 90 f3wh (discs) & B9 W 1 & 90 % T &ifpd & o 29 0 & @ @

few argesar el SR B, O 6 TR S i 76 39 5w W oifea 2 3
(i) I iR P TH T

(i) TF T & Fen

(i) 59 fawg T g

A box contains 90 discs which are numbered from 1 to 90. If one disc is drawn
at random from the box, find the probability that it bears :

(i) a two-digit number

(ii) a perfect square number

(i) a number divisible by 5

gue -
SECTION-D

32. 4o 7 §H o U EAHN wAh b S TH AFNT WM GAT 81 AN hl AHH A
T & ThaT & ¢ 39 YBR §1 39 H TOF FAGA ST B 5

A cubical block of side 7 cm is surmounted by a hemisphere. What is the

greatest diameter the hemisphere can have ? Find the surface area of the solid.
AYAT

OR

1104/(Set : D)
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g T Th IqT $ STHN B & P W T 9 FARMNT &1 A IqER AF7 i Hag AR

A FAM: 2.1 W oR 4 W 2 qoO0 OqF B FE FUE 2.8 W, @ W g H T A
TET BT H AFHA S IS T & % 500 U AP # S | TEH SgE daard @
AR S BTl (e ST & g & oTER & A | 6l &l S 31)

A tent is in the shape of a cylinder surmounted by a conical top. If the height
and diameter of cylindrical part are 2.1 m and 4 m respectively and the slant
height of the top is 2.8 m. Find the area of the canvas used for making the tent.
Also find the cost of the canvas of the tent at the rate of ¥ 500 per m?. (Note that

the base of the tent will not be covered with canvas.)

33. [ gam §c fsg & B FoqW WAl BN UhHEAEE A fhbe Hel # a0 A
ST B 5

¢ M W | Jeadwsl B gE
3000-4000 4
4000-5000 18
5000-6000
6000-7000
7000-8000
8000-9000
9000-10000
10000-11000

—= = W O N V0

T Siiwel B TgAD T HiT

1104/(Set : D) P.T.O.
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The given distribution shows the number of runs scored by some top Batsmen of
the world in one day international cricket matches :

Runs Scored Number of
Batsman

3000-4000 4
4000-5000 18
5000-6000 9
6000-7000 7
7000-8000 §)
8000-9000 3

9000-10000 1

10000-11000 1

Find the mode of the data.

3 a4 qd &l og (I H) F Hobd R 9 & 5 a¥ UAq g & gohd & AN % 2
IS I Y FHI i 5
The sum of the reciprocals of Seema's ages (in years) 3 years ago and S years

from now is % . Find her present age.

STeE
OR

T AreX e, Fres Rex 5@ § =@ 18 /v 8, 24 Bl o) & fdee 9 F, @@ gl
qRT & TR o &l TUeT 1 9T St ol o1 4RT &1 = F i

A motor boat whose speed is 18 km/h in still water takes 1 hour more to go
24 km upstream than to return downstream to the same spot. Find the speed of

the stream.

1104/(Set : D)
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35. 4= AT “Ai fRdl BIgST B T PO P g o A gorelt H R fagelt W
ST F B R b Y@ G o, @ A o A eI O & e § R @ ol
27 5
Prove that "If a line is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points, the other two sides are divided in the same ratio".
g -4
SECTION - E
36. TH FE1 H 4 AW T, TOH, FT R WA B 7 REm ofER 5 A, B, C I D W
9@ % T AN W H O YW g B g W osEdET B AN A B MER W
e g9l & ST} i

(i) o S Rafd S SR 1
(ii) ST S Refd Sa i 1
(iii) AC & Hefeg & Fesie s i 2
ST
gdeT g S5 @ g0 & i 2
10
9
8
7 B
m6
Es
S EEE />
3 .
2
1 D

@)

1 2 3 4 5 6 7 8 9 10
Columns
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In a classroom 4 friends Ram, Rajan, Praveen and Raman are sitting on the
points A, B, C and D as shown in the fig. Assuming O be the origin. Observe the

figure and answer the following questions based on the figure :
(i) Find the position of Rajan.
(i) Find the position of Praveen.
(iii) Find the coordinates of the mid point of AC.
OR

Find the distance of Praveen from origin.

10
9
8
7 B
6
55 A c&l
4
2 X
2
1 D
O 1 2 3 4 5 67 8 9 10

Columns

1104/(Set : D)
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37. UF TH qlEe ged & Y W Tl 81 369 3@ % @ P ol W@ O fauda Rameti & e

TS &I MY o W@l 21 I U &% A P &l ST&THT HI 45° B WX G O & FaTHT
BT 30° 31 98 IE A AT & % dEC B8 H Hae 100 WX B

: 45° N300 !
100m

A | 30° o
S THEN & SMER WX frfemad 99 & Sa¥ g ¢
(i) ZLAPQ® WY T &R ? 1
(i) PDF TEE G BT 1
(ii) QD W T BT 1
(iv) AP Wa@ Fd i) 1

1104/(Set : D) P.T.O.
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A boy standing on the top of a light house. He saw that two boats P and Q were
approaching towards light house from opposite sides of it. He observed that
angle of depression of boat P is 45° and that of boat Q is 30°. He also knows the
height of light house is 100 m.

Using above information answer the following questions :

(i) What will be the measure of LZAPQ ?

(ii) Find the length of PD.

(iii) Find the length of QD.

(iv) Find the length of AP.

1104/(Set : D)
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38. Tl % EW 810 & & IGRA A T THR @M T & % TBail Awd § 5 A9, gEq A

12 99 g qEd | 19 89 ISl

ST A gar & SMaR R =i g9t & I &

(i) SBRA HA @ A N G FMTEH AP B 7 1

(i) oFf THU ¥ @ A B TEAT A HioT 1

(i) el 13 TBRA F Fo Al B e A BT 2
7T

fpal TRl & 95 @9 W@ MW E ? 2

Anvi has 810 apples and she arranged them in baskets in such a way that 5 apples

are in first basket, 12 in second basket, 19 apples in third basket and so on.
Based on the above information, answer the following questions :

(i) Is the number of apples in baskets in A. P. ?

(ii) Find the number of apples kept in the 9th basket.

1104/(Set : D) P.T.O.
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(iii) Find the total number of apples in the first 13 baskets.

OR

In how many baskets 95 apples can be kept ?
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